ANy F¥yvd s=1/4
(g2 1) (L,

S) (E5—7447)

=95

9

¢ 144
¢ 190
¢ 230

sl
|||

ot

VSLOKA T »

—

’

~

N

[/

FUoRYERFa—TH47 (E

{ZY _s=1/1
(¢ 12. 7o)

(L)

(FIL2EAT)

/=

o144
0175

RO 42— S=3902

(E5—7 SPRA )

I\\\\ \\\\\\\\

\\\\\ \\\\\,\\

N

19

.

b NN,

6100

AR=H— s=11

#75 (SP) (ABA4T)
14
+H+ G

_I_

fEHE/NV R s=1.2

—|_ [IEr
+ |

300

IWGSF—FrP—R S=1/2

-/
5_

N
/
7SP-#7

Foh—~yF s§=1/2

(E5—74847)

#75

b 76
¢ 68

V=T 4 RY (ULKA)
#75 (SP)

E nE o

Ss=1/2

013 t=2

gl

or

e

@

¢ 64

B
5)

Saf{vhTL—Fk S=1,/2
(E5—7447)

N

gy

o\
Y

¢ 84
¢ 134

JaqrrrRY—7 s=1,/2

/-

G712
62

#15 (SP)

avyy—hEE

XEHR S=1./5
(RRAEMA vF) (EE—T7547)

Ocp=20N/mn?
(15N /mnf )

2
#

6103
215
(290)

I

TN

o
e

VRxvvT S=1.2

#75 (SP)

160

1.2

\

FANM T s=1.1

o/

B

¢ 75
‘ § ‘

120 i 1'.5

AY=JILT s=1/5

¢ 20
¢ 16

7.

RAY—7

135
22,

N/

()
/ )

Eo‘)l?ﬁ

AV

& 22

FyiRVREFa—T S=1/1

$15.5

$13.5

o =

XASHAHRNMTIE, BROFYDFN (Al) 01/2kBYET.

~yRxvyvF FrISA TN

2012.02.20




